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1. mE
=i 20205= 202146= 20224 =
(20204E128HR) (20214E128HR) (20224E128H8)
GHG CEZEXERAR) HEHE : 0 t-CO2 0 t-CO2 0 t-CO2
yatwsl
GHG CEZEXERAR) HEHE : 587 t-CO2 568 t-CO2 567 t-CO2
23-2
2071, 20OGHGH B E 587 t-CO2 568 t-CO2 567 t-CO2
IXIF—EES : 2J-S1 0 kWh 0 kWh 0 kWh
TR EHER : A1-72 1,138FkWh 1,103FkWh 1,099FkWh
2T 1 (TR SENSEEN(CHEE I 3GHGHER S . 20— 723, BHOF RS TRIHENICHEH I 3GHGHIEE T,
¥ 2J—T1, 20GHGHEFH (3Kt RRAT(R. BEAT( ADBMERERVERAT(ADSBKERELINEHLTVET,
2. jta
e 20205= 202146= 20224 =
= (20204E128HR) (20214E128HR) (20224E128H8)
EERE 11008 1 110, 1 120,
THERES R 27.9% 28.6% 30.6%
pegea=siilidnd 8.4% 8.9% 9.9%
LTRSS (BE) 12,057 13557 T4 40575
R ERABREE 63.8% 69.7% 75.5%
B RAEETR I 1o 296 21
B4E IBIAEEER 0.0% 43.7% 50.0%
B IRIRENSDIERZK 100% 100% 100%
N EREREES 0 0 T
KESHIRII¥REETOIADFH .
3. ANFOR
N2 202046 = 202146= 20224 E
(20204E128H8) (20214128H8) (20224E128H8)
T
R BN R R A ALY 6% 5 7#
PN
SRR BN R R A A 2% 2% 2%
T I oz oz v
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